Part-A

1. For the purpose of surcharge, international
articles are divided into how many groups?

A. Eight
_B Six

C. Four

D. None of the above

5 In which year India joined Asian Pacific Postal
Union (APPU) ?
A. 1953
B. 1963
1973
D. None of the above

2. wmﬁmmqﬁmmﬁ\
maﬁq@a'ﬁ&ﬂ?

\

A. 1953
B. 1963

c. 1973
D. SR A AP

3. Which among following is not a special feature | 3. FGfRad A 4 FH eI Sita SiHiE & )

of Postal Life Insurance( PLI)? T g 8 2
A. Income tax rebate A. 3O §C
B. Loan facility B. f«ﬁ:[gﬁ%ﬂ
C. Nomination c. difEmTE
B Low Bonus D. HH AT
4, Which of the following term i i EEIRICREE 1 —
with “Philately”? ‘ bt sesoulatel -5 19T [hae] e Thareen 9 el |
A Spec A W HR
pecial cover
B. First day cover B, W %‘W
& National Saving Certificates 'y -
D.  Minature sheet D. fHfTTR it
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D. None of the above

5. postal Life Insurance (PLI) introduced in which 5_Wﬁﬂaqa1m ('Eﬂ ?
year? A 1824
A. 1824 B. 1834
B. 1834 C. 1844
2 1844 D. IWE H A DK G
__D~ None of the above .
mmum weight limit for transmission of | 6. g% W ¥ UNd RS eI B R R
Merature through post office is how many WWWW% _' A
Kilograms? A. 6 framm
A. 6 Kilograms B. 7 f&hamum
B 7 Kilograms C. 8fwramm
C. 8Kilograms D. SWIE & J B e

7. APoste Restante article (except value payable) is
kept in the post office to which it is addressed for
how many days?
A" A period not exceeding one month. |
B. A period not exceeding two
months . |

C. A period not exceeding three
months

D. None of the above

8. Following two statements be read carefully and
choose the correct option given below,
Statement |: Post Box facilities are available
in all Post Offices.~"
Statement I Post Box facilities are
available free of cost.2A
A. Both statements are correct
B. Both statements are incorrect
C. Statement | is incorrect
Statement Il is correct
Db~ Statement |

Cantanmant Il 1a i.

and

is correct and

7. O IXI< 3Michd (deg Uaed Pl BIS B )
<t S W oI TN g1 ¢, 3% W # T f
qP W@ ST AT 8 ? |

A U&H TG 9 SFH G

B dAHEIeARwiE

C. o e § e fa

D. IR H PR TR

8. AN o e 1 & § U8 o 6 1

1 TG HY | | o

U 1 : URE ey gfarem Tt STeeRT 3 guere

P 2T il o Figes Suawal .
A AHIHE TSR

B. gHidW @@l

C. PYT 1770 § Ud et 2 W ¢

D. BT 1 78§ T HuT 2 e |
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CELLLL L 7y vy

Wt which

9. Generally, stamps should
place of the address side of an envelope-
A. Left hand top corner
_Ba Right hand top corner
C. Left hand bottom corner
D. Right hand bottom corner

o T 31 [Edd @1

R TR FRge S 87
A dUTNH J
B. AWM J
C. S aw A
D. S T® A

10. Following two statements be read carefully and
choose the correct option given below.
Statement |: Revenue stamps can be used
for payment of postage.pL
Statement Il: Postage charges can, also, be
paid by means of impressions of a franking
machine.
A. Both statements are correct
B. Both statements are incorrect
/K\Statement | is incorrect and
Statement |l is correct
. Statement | is correct and
Statement Il is incorrect

10. Fofafad < Y1 &1 ¢
&1 GA1d B
HYF 1 ; g fed
FU H e far on
S hYd2; Slc
TR & BT B
Sl HYF el Bl
Sl S T B
YT 1 79d § T &P
HYT 1 Wel § Tl e

onNnw>

11. Post Offices are divided into how many classes?
A. Four
B. Five
C. Seven
__D~ None of. the above

12. The Head Quarters of North East Postal Circle is |
located in which of the following City?

A. Kohima
B. Imphal
C. Aizawl
D7 Shilong
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which of the following?
A" Network connectivity
B. CSl updates
C. SAP updates
D. Bl Dashboard

WS Terms “NSP-1 and NSP-2" are associated with

12, "EMV" chip is used in which of the item?
A. Network Switch
B. RICT Device
C. Bar code scanner
_D! None of the above

14, 'éqqﬁ"ﬁqmﬂ%@m
Jead g e

B AR 3 W
C. IRPISTHR
D. rmﬂaa?r%aﬂéqa

15. “Any Time Anywhere Banking” is associated
with?
—A" CBS
B. TNF
C. DCF
D. RICT

15. "q#’ragm:ﬁamﬁn e

. G T

dw W

s e
&rrs‘vsﬁé’r

ONw>

—————

16. Data Centre Facility (DCF) started functioning in
which year?
AT 2013

B. 2015

C. 2017

D. None of the above
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_—ATM service are [ 17, 3madl ArSAIZIRA UOIaE & 58
17. In IT Modemization ProJ® Jaral o g o B b femm Y
covered under which vertical? A @ T g
“o L c. AT
D RHL D. R :
18 What is the maximum number of International | 18. AT EIE R LLIIES @Iﬁff E &ﬂ%&%ﬂﬂ il
Reply Coupons that can be sold to an individual at Eqﬁ?[faﬂ‘qﬁw g H {9l o) <1 I
a time? A 3
A 3 B. 5
B. S C 7. ..
C. 7 D IRIE H A HIE el
. None of the above .

19. Which section of Customs Act 1962 empowers
Custom Department to prohibit import of certain
goods? _ '

Section 10

Section 11

Section 12

Section 13

on%>

19, HeH Uae 1962 HI DI HI HHH,
@I $© T3l & S o Widaidd B
A. &M 10
B. UaH 11
C. A 12
D. qa-H 13

50. Printed Papers services in the foreign posts
generally corresponds to which service of inland
post?
A" Book Packet

B. Registered newspaper

C. Periodicals

D. None of the above

20. focl =% & fiee ;
U & @ ¥ ity

A I&% Upe
B. IReE @ AR
RlIRu (R ares

C
D. IR § Q)
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=1. e USE OT Inland letter cards for addressing

communication to foreign countries is permissible
to which group of countries?
~A- Bhutan, Bangladesh and Nepal
B. Sri Lanka, Maldives and Myanmar
C. Pakistan, Afghanistan and Iran
D. Thailand, Lao and Vietnam

R e S
%qﬁﬂamw
' o, TR ¢
| orers el SR faTe

Unm‘p%

22 Custom Declaration Forms are used in which
| of the following activities?
A POSB operations
B. PLI/RPLI operations
_ A International article bookings
D. Philately activities

frg MR T Ee ?

A TrefiTa«t Sffe |
B tﬁmaﬂ%/&m i ta o SR

sraagﬁﬂﬂ

23 An Aerogram should not weigh more than how
many grams?
A. 2 grams
B. 5 grams
C. 7 grams
«—D" None of the above

]

24. Examination and assessment of custom duty ©n:
inward foreign articles is performed in which office?
A. Custom House Office
B> Foreign Post Office
C. General Post Office

23. @Wﬁmmﬁﬁmﬁ
ol gAT BT ?

A 2 T
B. 5 UM
C. 77M
D. maaﬁéﬁé?@

D. Export/Import office

24, S T o S men o)
e b1 ef fepey ot af R

A HWEH ¥ 3wl

B. TR UiRe Sl
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’ . L
fixing surcharges ang

25.  For the purpose . of _ . 25 Wg;ﬂw =
combined charges ©on international articles, | fyufeu %_EI .ﬁmﬁmﬁw |
countries are divided into how many groups? A & W
A Two 8 &
B. Three C TR
C. Four D. SR A AHETH \

D. None of the above

26,) Deen Dayal SPARSH Yojna is_telated to which
segment/activity of India Post?

A. Stamps

B. Insurance

C. Banking
D" None of the above

\ >

\

N/

26. & GaTel WY (SPARSH) Ao i
W¢mmma%7 R

27. What is the maximum insurance cover (in Rs.)
under  Pradhan  Mantri  Suraksha Bima
Yojna(PMSBY)?
A. 1 Lakh
B~ 2 Lakh
C. 3Lakh
D. 4 Lakh

27. T TR GRe e Ao & S
(o B) T sifirepam i 1 &7

A 1918

B. 2 WK

C. 3798

D. 4 I

28. In which year India Post Payments Bank (IPPB)
was formally launched by Prime Minister of India?
AT 2017
B. 2019
C. 2021
D. None of the aboye

28, IR B WU H GRT (¥ a9 <o
e &1 faflrad Igaren fasar mm

A 2017

B. 2019

C. 2021

D. ‘o’qﬂaﬁﬁwﬁw@



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

49‘ fhe annu

ro\/ident Fun

— | 24 - 5 G
al interest rate applicable on Public | 29. fad ZOZPF)Q'{?:q
d (PPF) for second quarter of FY | fAfey, o ot T(P 6.9%

2024'25 is? A 1%
A 69% Wy
B 71% C 7.6%
C. 7.4% B 52
D. 7.6%

30. From which year Department of Posts has
offered Mobile Banking services to POSB
customers? |
-A. 2018
<B2019
C. 2020
D. None of the above

=T S O o O & TeaT
B et P @ TR 2

A. 2018 i
B. 2019

C. 2020 |
D. IR HAPIS ol

31. “Warehousing Service” is one of the feature of
which services offered by India Post?

31. JURGRRAT Wy, 3 z
A o 3fsa1 URe & g

A. Insurance
B. Compensation

C. Cash on Delivery
—B~ Weight limit of 99 kg

A. E-Post A. g:q’[g
B. Media Post B. Hifgurdre
L~ Logistics Post C. aﬂ%ﬂ@yw
D. Direct Post D. Wqﬁa‘
32. Which of the following is noi—aw mﬁ :
Speed Post? il s Eﬁgtﬂ}faﬁﬁim

CamScanner
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: ich of the
33.  Term "HFINRPT" is used I i

following platform?

s
\\E.\'

33, s "HFINRPT” {4 roHm g

A. g
: Finac|6_ . B. WA ,
B. Macmis c.
- D. @%ﬁaﬁ@fﬁi T
D. None of the above '
34. In reference with the IT Modemization project, | 34. 33 K RRIES R uﬁafaia‘r‘d‘l-f H 2
the term "PMU" refers to? q\'{ﬁl—d ol Elé = -
—A" Project Management Unit A mﬁi > q\%@‘é
B. Power Management Unit B ?ﬁﬂmqﬁf
C. Pressure Measuring Unit A ﬂﬂtﬁ%lé SRR
D. Payment Method Updator L ‘
35. IT Modernization project has been divided into | 35. 3 313[@??3'\?@?%% @ T Tt
how many segments? ' ™y
A. Four A dR
B. Six B. &¢ D e -
C. Ten C. &™ 1_
_DP~ None of the above D. B’Wﬁﬁmqﬁ

36. In term “T-Code’, alphabet T represents which
of the following?

A Transaction
B. Transfer
C. Technology
D. None of the above

36. T "Cl-ple’ § 3feR & T USRI &
A. THERHE

B. TRIMR

C. T _

D. IR H F B 7}
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D. Parcel Sorting Assistant

37. MAC binding is commonly used with reference | 37. s i’ m@ﬁﬁm QT\R:I:?‘Q; _
to which segment of IT Modernization project ? MW F gy A T T St o7 E&
.~/A./N| A TF 3ﬂ'§ ‘
B. FSI B. TG TH 3{1% i
D. CM D. W
38, Mal department of Sorting Mail Office is head | 38. TIRIET A AP & Wl [GHRT Bl R
by which authority? a1 87 _ _ :
A" Head Sorting Assistant A. TS Wil 3RRce
B. Sorting Assistant B. WifeT SiRRde
C. Registration Sorting Assistant C. oA aife siffee.
D. U WifeT e

39. For what purpose the “Trial Notes" are used in
International Mail transmission? '
\_A-"To determine the most favourable
route
B. To determine
postage
To find out the missing articles
To calculate the custom charge

the minimum
C.
D,

\@ The Arab Postal Union, a restricted union has
its headquarters in which city?
A. Amman
_B.Bagdad
C. Sana
D. None of the above

39, SRRIBN <% e & G H ¢ g9

T VAT 87

o T & o R e
T ST Qe b AUk e
T §Y ST %I WIeH 64
$wmwﬁmmﬁ

oNnw»

b Wmﬁm@wmiﬁ/ﬁf
eI IRy & 7

A MH
B'W
C

“ % s T WP

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

_-,.‘—-"“——-..,. - "

Which _‘__‘_“,,.4/"";‘}':’“
on art/dep
Office? e is not p

A, Malil

B. Sorting
C. Registration
D Philately

41.
Maij

ent of Sortlng" B

A, Fofefaa o @ @ dfdn Fa s
e favm =1y §

A A

B, wffén

C. '1"\#@5914

p. forarcad

42. Metal Tokens are used by which category of
official?

. Circle Office Official
. Regional Office Official

A" Selected RMS Official
B
C
D. Postal Division Official

L

42, Ted a1 fpd Al &% BHTUT gRI T
I § ? 1 ,
A TOfd 3R TH TH B -
B. Wfda aiithy TRl
c. Soma it SR gry
D. e FEdieH Bt gR

[ \? Deduction /Non deduction of TDS in SCSS
Ecounts has been clarified by which SB Order? -
: A. SB Order27/2021
_B. SBOrder37/2021
2 SB Order 47/2021
D. SB Order57/2021

43, 9y e SO WhiH (08 U

76? "PM CARES for Children Scheme 2021"
. _+Zcduced vide which 58 Order?

A. SBOrder 33/2021

B. SB Order43/2021
&’ SB Order 53/0 1

D. 5B Order 63/20,1

AT & B /3 Bl Bl Fpu T
Wy fopaT T
A TEH ST 27/2021 -
B. TH ol 3MIST 37/2021
C. THdl3meR47/2021
D. T¥ e ST 57/2021 -
44. "G TH $UY BR Taegd WH 20
ot SR % GRT AT T

A TH 3T 33 /2021
B. Tl 3SR 43 /2021
C. TH 3R 53 /2021
D. Tt 3mev 63 /2021

CamScanner
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[ 45- The movement of 5 0, slip is from?
/B\. Head Post Office to Sub Post Office
. Sub Post Office to Branch Post
Office
~—C" Sub Post Office to Head Post Office
D. Branch Post Office to Sub Post
Office

—

46. What is the maximum limit for loose cash
remittance. between account office and its
subordinate  offices  through  departmental
employee? |

A. Rs.15 Lakh

B. Rs.10 Lakh

<€ Rs.5 Lakh

D. Rs.2 Lakh

S i 1 1 G 29 ST

g ?

A 15T U
10 TR T9Y
5 G BYY
2 W T

OnNw>

“47. Which one of the following is not
part/branch/department of a Head Post Office?
A. Mail Branch
B. Delivery Branch
C. Sorting Branch

__Pb Loan Branch

78, How many types of insurance schemes are
offered under Rural Postal Life Insurance (RPLI)?

A 3
B.. 4

€5

D-. None of the above

47. Fofafed & 9 ' RNty
JRUCIER L TH S

oNnw>

20
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~(PDA) can be open

49. Philatelic Deposit ACU™ * " ount ?

with a minimum deposit of oW ™
A. Rs 1000
B. Rs500
C. Rs300
——D. None of the above

49. Tharims Tuive s@ee
A. 1000 TUd

500 3T

300 348

B.
C. |
. IR A A

>0. In which year Rural Postal Life Insurance (RPLI)
was introduced?

A 1994
B 1995

C. 199

D. 1997

50, AT S ST T @R ©

| AUR™ES ? »

1994
1995
1996
1997

onNnw>
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A. 80 o
B 85 9’%L¢~i\\’2*
—C90 oy '\ R
D. 95 ./_\N u\'\
el \0 ¥ y"‘/‘(\\
&~ @, "
0y
// ﬁQ DO‘\/YS:D
%

30
40
50
60

OnNnw>

| b o1 ¢
i ; : [t

mem7

5(10+15+5%4- 2x2)

80
85
90
95

«\%“

®
R
Za®

o0 ® >

53. Personal commitment to work hard and do
one's very best is associated with which of the
following?
A. Confidentiality
B. Empathy
_C~> Work ethics
D. Impartiality

~S4. The total geographical area of Chhatisgarh is

apprommately?
A" 135194 sq km
B. 2,35,194 sq km
C. 3,35,194 sq km
D. 4,35194 sq km

53. aﬁqqﬁmﬁ?&mwﬁwﬁuﬁwﬁ
o fpuqgueidae,

A. TIoEgar z

C. S A |

D. SEHq |

54, %‘rﬂwm BT S UMD aahd ﬁ,—ﬂ' 1
1,35,194 Errf%fﬁ o L
2,35,194 i fp o

335,194 T fafl.

4,35,194 aﬁﬁarﬁ

.U.ﬂ.w>
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f the
S5. Nagara style is famous for which ©

following activity?
—A\ Temple architecture
B. Classical music
C. Indian painting
D. Classical dance

55. '?Ftrt{m 30 fpd e
g gt

g dfen

. YR A

U{'\F’>

56. Famous classical dance "Kathakali” has its roots
in which Indian state?
_ A" Kerala
B. Tamil Nadu
C. Utter Pradesh
D. Manipur

56. TIRiG QAT 7 © Ul " Bl S
A. B
B. diAw TS
C. JWUSY

57. Which one of the following was associated with
“Indian National Army “?

A. Bhagat Singh

B Subhash Chandra Bose
C. Vinoba Bhave

D. Mangal Pande

the famous Quit India movement started?
A. 1918
B. 1921
C. 1925

_Dr 1942

58. During Indian freedom struggle in Which year

%7. FafeRed & ¥ o 3o A9

A
B.
C. ﬁﬁﬁﬂuﬁ
D.

58, HRGIY WciAdT ToY & ST 919 3
Hd TE gl UI?

A. 1918

B. 1921

C. 1925

D. 1942
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4 | 59

B. Hi'lly area administrative bodies
C. Tribal area administrative bodies
——DB7 Urban area local bodies

Municipal Comporar T
admin; p - CQ,rPOFation is associated with which | 59. IR jﬁ” Hel @
Strative set up? A, retor &4 e a1
. m!l - I A
A." Rural area local bodies . TErsl A garafae |-

60. Who is the present Governor of Chhatisgarh ?
A. Sh. Shiv Pratap Shukla=

B. Sh. Satyadeo Narayan Arya 4

C. Lt Gen. Gurmit Singh 2.

_DP7" None of the above

A. 4t R gaTa gl
B. ot §gea TRTur 3

C. q. 9 a RYa Rig

D. ST ﬁ%ﬁé?“tﬂ'

|

61. Which one of the following river not originates
from Himalayas?
A. Chenab
B. Tapti
C Ravi
D. Vyas

%1. FafaRed 9 o= @ 7dl fgarem

| 62. Which one of the followim
its boundary with Chhatisgarh ? &mt shafe
A. Uttar Predesh
B. Andhra Pradesh—
C—Bihar

D. Telangana
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[ —— e n s z
63. The salary of 9 workers I Rs 27,000. What will

-63. 9 m 00 & 7 4 Wiy

be the salary of 4 workers? RIT RN ? -
A. Rs.4000 6(,@ \)\ A. 4000
B. Rs. 9000 AN B. 9000 ¥l
—£Rs. 12000 C. 12000 ¥
D. Rs. 15000 % D. 15000 ¥
A
AT 4 (V‘(/
= AV
64. A marine ship covers a certain distance at a T 902 Werd Uab [i19d gl 300 fharHIe
speed of 300 kmph in 7 hours. To cover the same %7 deiquadcl S A g@iqade A
distance in 4 hours, it must travel at a speed (kmph) | e fpg 7ifa (Fpadiex uid Hend M &1 81
of ? A. 520
A. 520 - N 2 B. 525
cBrss K7 BV 7(;0 C. 530 ,\:gg
C. 530 > D. 535
D sz W _P —x

L

it

What is his speed in meter per minutes?
A 8

\

B. 80 @’}S
__£7100
D. 800

2>
;%

65. A person crosses 800 meter bridge in 8 minutes.

65. @mmsooﬁagaaﬁaﬁqfﬁma

39 B 71id Tiex ufa fiFe 9 gril?
A 8 P - | 4
"~ B. 80 - Y
C. 100 = 900

66. A can do a bit of work in 10 days, which B alone
can do in 15 days in . In how many days both

cooperatingA f:an5 do it? : @
_B6 ﬁ’ - S.K

——————.

cC 7 al
D. 8
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/ 67, : Rman and Rakesh

I - Y Yy

B e oo oS Uy
@ﬁ; ! B T gy,

g together can do in 15 |
days, : gether can a task in 15 | 67, ﬂ
daﬁ, r:hdgf;vAmlt an alone can do the same task 20 | & ﬁg{q:m sl 20 ﬂ:ﬂﬂfmm
many days Rakesh alone can do it? wmaﬂmﬁﬁ‘ﬂﬁaﬂ
iy A. 60
?{ 50 B. 50 X
. 40 C. 40
D. 30 '*9’4\ ' \
RN D. 30 ¢
" 6-}\
\ /’V& = O
;@ o7
2
i o o . m
68. The individual weight (in kgs) of 10 players of a | 68. fargit € @ 10 16230 63 T | Gh;{aﬂ?m
team are as 54,55,56,57,58,59,60,61,62 and 63. 54,55,56,57,5359'60’6 ' "
Calculate the average weight (in kgs)? (fream #)
A. 565 & 20 DV
B. 57.5 b DIPTSR
585 v G 585 6w 6
D. 595 [ 5% ) < A "/% eSsd 68:5‘
q}/
o &
\ % (>(?
v o ©
Y _£h
oo

69. The mean weight of a group of five boys is 56
kg. The individual weights (in kg) of four of them are
52, 57, 55and 60. Find the weight (in kg)of the fifth

boy?

. gg (W\x* _ 6 %3
€56 el +
Lo D. 57 0 A
L )
R et
/

5

69. % TE ¥ Uid Aed! &l ad HIR 56 il 7
I H | IR aea1 %1 AfdaTd MR (FEarm A) 52,59

3R 60 173 T T YR JIe B (e 7 )
A 54 _— @D
.55 Y Lo g
Cs6 BHP 9 &
s ‘\ge \+ g
‘% 286
| 3!
Y
g‘@
>

70. Mr. M has invested an amount of Rs 9000 for 5

years vs{ith a simple interest of 5% per annum, What
will be interest amount?

A. Rs 2000
B. Rs2150
€ Rs.2250 Q
D. Rs2350 Y c
pu X /\’@ 6*
N = o‘\
- \

;%;g Mﬁgmom'Séai%ﬁfQS%mﬁ

RS | 1y

A. 2000 F
B. 2150 ¥y

C. 2250 ¥y
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N2 N

71, How much time will it take for an amount
of ¥500 to yield 25 as interest at 5%per annum of
simple interest?
1 year
B. 2years

C. 3years /§ _‘A

D. 4 years

é) )@‘\\%“?

TS I 77 500 A W oW 25 T4, 5% Wiy
YR T B &< & ST?

A 194

B. 29N

C. 39Y

D. 49Y¢

72. Ms. B bought a cycle for Rs. 5000.. For how
much rupees should she sell it so as to-gain 10%?
A. Rs.5600

B. Rs5550 |
C. Rs.5525 ‘660?

—D—Rs. 5500 0\& /4

72 B ﬁmsooomﬁﬁﬂﬁm@ﬂal 10
wuéfgqgmﬁmﬂﬁamwﬂ

A. 5600 FUT

B. 5550 U4

C. 5525 F0Y

D. 5500 ¥GY

73. Mr. A has bought an item for Rs 500 and sells
it for Rs 700. Calculate the profit perc tage?

A 30 ZEEES
B. 35

5. i o
Y

4

73. S A4 500 T H M BRIaT iR 700 SO 7
e | e e ma e 2 A0

. 30 -
: %.Q

U N w2
A w
o U
\
A
S

74. In a class of 90 students, 40 % are girls. The
number of boys in the class?

A. 18

B. 30

C. 42 (\0

7 None of the above . 0\0

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

75. In final exam of cl ' 50 | 20% “\ﬂ
; Of Class X| there ; 2 .‘
20 % students failed. are 50 students, [75 g7 5 Xl FIPAEL .

cIa How many students passed to BT gy Wﬁgﬁﬁ e 21

A. 20 o o |

p VE.-/zg Qd *ﬁd e O C. 40 %
D. 50 4” D. 50 ‘l

: . ot o @id &4 H |
76. Choose the alternative which is closely | 76, Taded @1 3719 et
resembles the mirror image of the given | BRI S
combination. MALAYALAM »
MALAYALAM ) s () MALVELR
(1) MALAYAIAM  —£27 MAJAYAJAM ) pyryarv () MA —
(3) WVTVAYTVIN  (2) MATAYATAM ¢ 1
‘ A.
AT B. 2
B2 c 3
C' 3 Dl 4
D. 4

77. Select the alternative which represents three out | 77. Waﬁﬁlﬁﬁiﬁﬁﬁ?ﬂq &1 T H< ol GHlHd &4
of the five alternative figures which when fitted into ﬁwaﬁmﬁnfmaﬂa%l
each other would form a complete square.

. AY D oo

{z {zj
A 124
A 124 B. 345
B. 345 C. 123
C. 123 D. 135
B 135
e i . . . ] _—/
78. Identify the figure that completes the pattern. Wﬁa
5r I UgaH |
:- # i rr 2 Y —
=1 B A B1=N B om
o B _ e
(M (@) B @ , () Q Z
Al A ® @
B.2
B.2
C.3
C.3
' D.4
Lo .
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f . e
79. How may rectangles are there in the figure
given below?

oy,

P

A —

A 16
B. 18
C." 20
D. 22

D

16
18
20
22

onNnw>»

TR i T

80. ﬁmﬁﬂﬁﬁﬁﬁuﬁﬁﬁmmﬁv

A.
B.
C. 12
D.

81. Look at this series: 49, 49, 37, 37, 25, 25, .. What
number should come next?

‘/gf 1431 \}\G\é( ' %96
c. 15 1/\<v Ko
D. 16 «
@
\ 2
\‘2/
/’Z/le ,nxtnumbep\
A 13
g 10
T
D. 5

81. ARSI A gd 49, 49, 37, 37, 25, 25, .
W@:ﬁmf?l;{?

13

14

15

16

onNnw>»

3T

82. SOl ST AT 7
4,105,11,6,12,

13 c b

10

7

5

DN
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w3,
nﬂ’\q

l ke —
' Spar bought 300 apples and 200
Nang o, Osw

Oung

Wﬂﬁ}'l TUA iy gy
O3, T A 00 07 1 4 Wl 1 W

15% apples and 259 2 :
Were o | 159 ; o
Ooq conditi rO?t N. Find the percentage of fruits i WY o Uy ofy 25 %
A 85y, 4‘0 g. 85%
B. 849, "4, \\6 Cl’ C' 84% 60/
~ , V . 82%
T 829, \(‘/(\') < 1{,"\ D. 81% 6 ﬁ
' 81% \ J l/ , q 6
\(") < /\;O
O
v ”
84. A man completes a Journey in_5 hours, He aqﬁmqma?rs ‘ElZ'T‘ElT{{l?)Tc‘lT%’I ATTYA 1Y

travels first half of the Journey at the rate of 13

kmy/hr and second half at the rate of 15 km/hr Find
the total journey in km?

A 896 _s9 B. 796
B. 796 7~ 5\‘\3’ \ C. 696
C. 696 = q D. 596
D. 596 - 6"«

_5 ) 7
R”
A}
“©

aﬂ13ﬁﬁnﬁauﬂﬂamﬁeﬁqmﬁ1«smuﬁl

ﬂaﬁwm%n@ﬁwwmﬁmaﬁv
A. 89.6

15. A cricketer has average score of 80runs in eight
1nings. Find out how many runs are to be scored by

.im in the nineth inning to raise the average score
D817
‘ A 89
B. 88 n)/
C. 87 &/ _ AP
D. 86 % ’
o2 |
Calculate the final value of 40% of 60?
A. 50
B. 40
C. 32
W p .60

“19%

85. U fehope fATe! & 2116 URT H 1d TR 80 I gl

eﬁwﬁnﬁsmmaﬁ%ﬁqwl@aﬁaﬁaﬁﬁ

Wﬁmﬁwaﬁﬁeﬁ? K l
A 89 -
B. 88 0
C. 87 | o
D. 36}9%) ;\3 o

X = ¢W°
—%0
—

86. 60 B 40 % o1 W & QY 7
A 50
B. 40 &)

C. 32
D. 24 ‘ﬂj’)ﬁ/\o
4>
6\ 0
—5a
p—
i e ——


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

ssengers. How many

87. '
5 buses carry 250 pa buses?

Passengers can be carried by 6 U<l

j./‘ 300
B. 350 Q©
C. 400 ?' i;g
(, 7
b/ &f“%
Vi

87. 591 A 250 FaRI TR B E| 6 <RIl Ry
R 37 ?

300 \
350 \
400

450

oOnNnw>

88. Look at this series: 3, 1, (1/3), (1/9), ... What
number should come next?
A 1712
B. 1727
C. 1/49
P77 1/81

28 e A1 e 3,1,(1/3). (1/9)...7 3Tell TSAT <1 g,
e ?

1/12
1727
1/49
1/81

ONnw>»

89. Ball is to Cricket as Shuttlecock is to?

| 8o. ﬁ?m%@,?ﬁmﬂ?

A. Football A. Tedid
_B~ Badminton’ B. deffied
C. Hockey C. Blpl
D. Kabaddi D. Sl
X (O O
90. Look at this series: IV, VI, VIll, X, _2_, XIV, What | 90. RISl &1 . IV VI VILX 2. XV @?ﬁw
number should fill the blank? o W, T HRT SR 7 =S T
A XI Q- A X &
A Xl . B. Xl o @
C. X C. Xl b\\ R
D. XV 0. xv R T T
L < ©
AL Q \
T & S o7 \&
« Q 9 \'K
AR 174 « S
i4 <9 J \\ N
\‘Vq?(v N\ oo\
1 \
-_— T ?\ \x.\\ \ ?\:‘?—
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s T A S A SR AR THn e

- -
p Fl‘l

91, iﬂi\mmﬁa‘z

Shou|q f,, S22, ? , X8, W16, V32, .. What
. \e blanky r Ry
B 'Y4 A Y3
C p. V4
< U3 U3
D. U4 C' 4
VLY
9 TT————
92
ki e T oep| ¢ Ol 03?7
30 90 i ¢ 00 22 J <23,
. (4)
Ay O @O W A @@
. (2) %
C. @)
C. (3) D. 14
D. () . (4)
- 93. BMM, DOO, FQQ, ____, JUU 93. BMM, DOO, F
- L 'GTCTIQl"JUU
B. GSS B. GSS
_€&" HSS C. HSS
D. HTT @7 D. HTT
\_/\
94 o4 e |
AT A}Dou|o<>o|oc: ? ADAluouloooloD ?
O O o0 4 ¢ o o a
gqu @ m A (1) Mm@ @
A (1) B. (2
B. (2) C. B
c. (3 D. (4
p. 4
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the glven figure.

A 24 trlangles and 3 rectangles
B. 28 triangles and 3 rectangles

€. 24 triangles and 5 rectangles
D. None of the above

98. Choose the figure which is different from the

rest

F—-——‘ =

T |
. MGH, 7.0 1
3. KCD, U, mor, 7, oK e KCD'lf NI |
A NI B. PU
B. PU C Bh
C. P D. NU
D= NU
N
56, Which word docs INOT belong with the others? | 96. FEi®@ & & @1 o7 = wa = 7% & ]
A 55
A. Second B. =
B. Hour C BN
> Meter D. =ic
D. Minute
97. Count the number of triangles and squares in N REES S mTis ® o= o= ¢

A BUS R39S
8. eI T=s
C uEIRs==
D. SR S35
98 AP TR X SIS P
Mm@ 6 @ >
Al '
B.2
c3
D.5
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W
-~

LR L ﬂ\\\'\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\mu

99. Choo ‘
(— se the figure which is different from the

Mm @ @
A1 2

B.2
C.3

J P

(4)

(5)

rest.

100. i ich i
Choose the figure which is different from the | 100 ﬁﬁﬂﬂmﬁfaﬁ'ﬁﬂ =1 o &

1 @ 8r
A1
B.2

1e3

D.4

(4)

(5)

) 3) @ “(5)

A1
B.2
C.3
D.4
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